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Domain Assessment * Functions

Which of the following stalements must
be true of a functian?

A. Every oulput vatue caitespands
1o anly one inpul value.

B. Everywnputvalue comesponds 1o only
pne outpul value.

C. HNonputvalues are repeated.
Q. Mo ouput values are repeated.

Each of tha tables below shows a refalicn.
Which relation is a funct'on?

A [oputt) J10s5i{s5]7]9

Qutput (v} 2({nlg]i3ja

B. [ input(x) 7i8lolBn

Outputly) |3|5]|7]|6]8

C (mputtn) |3 71s]io]is

Outputly) 0|0 [0 |0 D

P Mopettnl 1 0 [V D

Outpitly) [2[3]a]5]|6

3.

Pia requstered for an account on the

Web site of a national magazne. The
magazine charges $5 as a setup fee and
$17 per month for access to the Web site.
What ts ihe initial value of the function
that represents Pia’s cost for accessto the
magazine’s Web sile over lime?

A. 30
B. $5
c. §$17
D, $22

Ibralum drew the graph below.

y

Which of the faflowing stalements best
describes the graph?

A. Thegmphrepsesentsaretaion but
naol a function.

B. The graph repiesents both arelaicn
and a funchon.

C. The graphrepresents ngithera
retation nor a function.

D. Theseisno relalianship between the
1 and yvalues in the groph.

Go On?

5.

André paid a $65 annual fee Lo register
with a car rental company. The company
charges $8 50 for each houra caris
rented. What s the rate of change of the
funcuon that represents André’s cast for
renling a car over the course of ayear?

A. 58.50pes hour
B. $65peryear

C. $73.50perbhour
D. 3$73.50peryaar

Whuch of the following 1s the equation of a
noalinear function?

A y=25
3
B. ‘iklﬁ
C. y=ilx
D. y=x'+15

7.

The graph below shows the relationshtp
between ime and speed for a 300-mile
miey.

Time and Speed to Travel 300 Miles

3

1
\
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1
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]

Speed {In milan par hour}
- usEBEREERHUZENYEE

T w

Tigna fin hours}

Which ol the foltowing statemenis

15 the best description of the funcisona!
relahanship between the two quantiies in
iha graph?

A, Thegrph shows a decreasing,
nonlinear function. As the time
of he joutney increases, tha speed
decieases.

B. The graph shows anincreasing,
nonlinear funclion. As the speed
increases, lhe tune of the journey
Increases.

C. The graph shows a decreasing, linear
funciion. Asthe lune ofibe journey
increases, the speed decreases.

D. The grmph shows anincreasing, knear
funchion. s the speed increases, the
lime of the jaurney increasas.

Go Onbk
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A,

o,

B. Which of these graphs does not jepresent a.
afuncron?

Tha lable and graph be ow represent
two funclions.

m_._a.w‘sc: A

Function B

x Y

T -2 25

1] 3
l 4 4

10 55

Which of the following statements 1s tiua?

A. Therate of change lor Function A

15 twice the rate of change lor

* Function B.

B. The rte of change for Function A

SuKNg

15 four imes the mle of change lor

Function B.
C. Therte of change lor Funcion B

is twice the rale of change for

ud Function A,

The rete of change for Funclion B

L) is one-tenth the rle ol change for

Funclion A.

Cyhan studied the relationsh p between
m:.ﬁnaz_m and sales of refreshments

2l the concession stands nside the foolball
stadium He wrole an equation for the
sinear function that relates iempemiure (x)
and refreshment salas {y). Which of the
{allowing could be Orhan’s equanon?

A yu+25
B. ¥+ 15x+40
€. y~lix-55
p. y=x'-135

A membership al a class ¢ fdm center costs
$75 per year. Tickets Lo films cost members
$5.50. Which of lhe following statemenls
1s true of the annual cost of membership

al the film center? Let y = total cost and

x = number of ilms seen.

13.

A, Theannual costis shown by the
linear onctiony = x + 5.50. The rate
of change s 1, and lhe initial value
is 5.50.

B, Theannuat costis shown by the linear
function y = 75x + 5.50. The rate
ol changais 75, and theinitial value
15 5.50.

€. The annual cast is shown by the
fin2ar lunction y = 80.50x. The le
of change s 80.50, and the initat
value s 0,

D. The annual costis shown by the Eneas
functriany = 5 50x + 75. The rate
of change 15 5 50, and the nitial
valueis 75,

ﬁé{g{t

12. The ordered pans shown belows teprerent

a function.

{=2,-17.5),(5,875),{0, 10},
(=1, =13.75),{3,1.25)

What is the rate of change of the function?
Round to the nearest hundiadih if

nacessary.
A, =375
8. -027
c 027
D, 375

Which cf the following sets of ordered |
pairs represents a funclion? *_ m

A, (=1,15),10,10),{0, 5), (2, 5), (5, =5)

{=7, < {(~7.0L{-72.1,(-7,2),
{(~7.3

€. {=5,100.{-3,6),(0,0L(3. 6L (5,10}
0. {~8,3),{-4,3).(0.3).{C. 5). (4, 5}

<
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14. Which of the lollowing graphs repiasents 15, Ms. Guidry wrole the equalion M. Carter asked his dass 1o compare the 18. Coiinne drew the graph of a finear
a nonlingar funchon? ¥ = mx -+ b onihe board. lynne claimed . ates of change for the functions shown function, as shown below.
, that the equalion doas nol1epresent a betow.
A, I'near function Amysadthaty = mx+ byg . Function A i
1 1 “; the equation of alinear function. Whichof N
P ) e the following stalements es true? x ¥ X
N — -2
BANMERE . A. Amyisconectbecausey = mx+ b e 15 A\
LN 1elates fwa vanables, and naither —4 -3 = x
,..,.i...l ofthe vanables s mised 10 2 power ¥
! grealer than 1. o 2 X
B. lynneiscomectbecousey=mx+b 2 u.«.
B. refates two vanables, but one vanable o um
{a)is rased to a power (m). What is the mte of change of the function?
S8 C. Amyiscomectbecausey = mx+ b A -3
' (7] relates two variables, and both Function B _
..... a 1 vanables have only mteger values p= Wx +6 B. -4
] ]
0. lynnesconec becausey -« mx + b € 3
refates four variabies. ¥ Which of the following stalements 15 irue? D 3
& A. Theate of change for Function A
-t 16. Which of the following sets of ordered W:ﬂﬁﬂﬂ.m:ma the raie of change lor
4 paws does net represent a function? .
| The rle of change for Function B
4
A H A. (-6,0),{3,0(-2,0}(0,0.{9,0) 1s three limes the rale of change for
crEE i Function A,
B. (35,-1).(3.5.-5,(35,10), e
X (3.5.0},{3.5 -1.5} C. Themle of change for Function B
r i5 greater than lhe rale cfchange for
1 3.1 1,0
¢ ($0).(303) 0.0 (25 43). L funclionA
o. _u_w. m._wu i 12 - D. Therates of change for Funclion A
! : and Function B are equal.
T i 1 .4})(62 1
PaNf 0. {-9,-3) —m. _.m_.?.w”_._uln. I_L. :
M 43
fareTi-f i Tw. L
FEEXEE
-] i
Ml ]
Go On? et Go On»
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19. Udija created the table of values shown

below.
x Y
-275 3
75 ~7.25
Q0 =725
—2.75 5
—325 a5

Whech of the following staiements best
explains why the iable of values does nat
represent a functian?

A. Atleast one yvalue s repealed.
B. Alleastone x value srepeated

C. Atieast one pvalu2 has movre than one
conesponding x value

D. Atleast one xvalue has more than one
corasponding yvalue.

20. Dunng his winter vacation, George
rented skis and boots for 5 days from the
Slope Sfayer Skt Shop. The shop charges
the same rate far each day of a rental.
including a $7.50 application lee, George
pad a total of $177.25 1arent slus and

boats.

What is the ale of change, indollars
per day, for the funcuon lhat represents

Georgesrental cost?
A. 750
8. 3395
€. 3545
B, 4295

Go On b
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2]. Cecilia decided to stant a savings plan. On [anuary 1, she opened a bank account and made
adepaosil. She then madae monthly deposits without ever taking money oul of the account.
Atihe end ol each month, she recorded the tatal amount in her savirgs account. The table
below shows her data for the first five months of the year.

Date Accourt Balanca
January 31 $1I0
Fobruary 28 5120
March 31 $130
Apiit 30 $140
May 31 $150

What is the in tial value, in daltacs, for the function that represents Cecilia's lotal savings? Explain

YOUT answver.

Go Onb
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22, Mr Posada graphed the funcuion that relates the cost of an avemght tip lo the number
of chitdren attending, as shown below.

Cost of Qvernight Trip
4200
)
T 00—
2 a0
2 zeaf—l\
s 240 {—|
2 o
L tem 5
m. 1200 VU
a0
am
s 2 4 ] ] [
Humbaer of Children Attending

Use the woids increasing or decreaswrg and Enear of nonlingarto dascribe the gaph. Explan
yOur answer,

23. Ms. Dehejia asked her class to graph the Iollevang silvation:

Monique ook 15 minutes 1o bike the 4 miles from her house to herfnend Angela = house.
She spent another 15 minutes ta’king to Angeta. Then she loock 10 munutes lo b'ke the 2 mies
from Angela’s house Lo the librry. She stayed al the library for S minutes (o return a baok.
Finally, she took 25 srunutes (o bike home.

Ennque drew the gmph below to tepresent the situation.

I 4

Moniqua's Trip
m .
umw
7
£
mnn N
= k.
i ;
3 !
[ S |
EXEEEEX R

A, [xes Enrique’s graph correctly represent tha situation? Explain your answer,

Time (in minutes] F w

B. Graph lhe siwalion Ms. Dehejia presenied lo her class.

¥ Monlqua's Trip

Distance trom Home
fin miles)

£e)

LI I I L X

CEEFE TR TF L

Time {in minutes)

Go On)»
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24, Anonline mavie iental service charges a one-lime registration fee, The cost of downioading
gach maovie 1s the same, The table below shows the total costs, ncluding the application fee,
for downioading different numbers of movies.

Cost of Downloading Movies
Total Number Total Cost
of Movies {in dollars)

5 41,25

10 52.50

15 7375

20 90.00

25 106.25

A. Wiile the equation ol the function thal represents the iotal cost of downloading difierent
numbers of mowies. Identify the rale of change and the initial vatue of the function.
Let y = total cosi and x = number ol movies.

B Whal would be the lotal cast of registenng for the movie rental service and renting
125 movies? Explain your answer,

TuhCmIg iy Dird 2 255 hixi by Tecintolec by lew

25, Harumi crealed the table of values shown below.

x -3 —3 0 2 3 4
y 3 =5 -8 =2 3 10

A, Grph the ardered pans shown in the table. Then connect the poins.

14

B. DoesHaumi’s table of values represent a function? i 50, 18 the funclion linear or nonbnear?
Explain yaur answers.




